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point_search.c

#include "math.h"
#include "stdio.h"

#define MAX 50000
#define MAX2 1000
#define MAX3 3600
#define PI 3.141592
#define SHIKII 100
#define r_width 11
#define c_width 10

/000000000000%*/
struct point{

double X;

double Y;

double Z;
} point[MAX];

00000000000/

struct box{
double X; //0000
double Y; //0000
int sum;

} bunkatu[MAX3] [MAX2];

/000000 vyddx/
struct line{

double a;

double b;

double c;
} 1ine[200];

/000000000000=%/

struct point2{
int X;
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int Y;
} point2[MAX];

struct point point_range[1000];
struct point point_color[1000];
struct line line_color[200];

int all_range, all_color, z = 0, X_co, Y_co;
double x_min, y_min, x_max, y_max,p_max = 0, p_max2 = 0, range, range2;

void make_camera_file(void){

FILE *fp;

if ((fp = fopen("camera.txt", "w")) == NULL){
printf ("error\n");

exit(1);
}

fprintf (fp,
fprintf (fp,
fprintf (fp,
fprintf (fp,
fprintf (fp,

fclose(fp);
}

ll%s
ll%s
ll%s
ll%s
ll%s

%d %d\n\n", "CameraNSels", 2012 ,1324);

%4 %d\n\n", "CameraNPixels", X_co, Y_co);

%f %f\n\n", "CameraSelSize", 23.7 / 2012, 15.6 / 1324);
%d %d\n\n", "CameralmageCenter", X_co / 2, Y_co / 2);
%d\n\n", "CameraScaleX", 1);

void readData_range(char *filename) {

FILE *fp;
int 1i;
float x, vy,

z;

char ch, ch2[50];

if ((fp = fopen(filename, "r"))==NULL) {
printf ("Error");

exit(1);
}

for(i = 0; i < 68; i++)
fscanf (fp,"%s", ch2);

x_min = 999999.00;
y_min = 999999.00;
x_max = -999999.00;
y_max = -999999.00;

while((ch = fgetc(fp)) != EOF) {
fscanf (fp,"%s", ch2);

fscanf (fp,"WEAE%E", &x, &y, &z);

C-2



if(x !'= 999999.00 && y !'= 999999.00 && z !'= 999999.0){
if (x_min > x)x_min = x;
if(y_min > y)y_min = y;
if(x_max < x)x_max = X;
if(y_max < y)y_max = y;
}
}
x_min = x_min - 100;
y_min = y_min - 100;
x_max = x_max + 100;
y_max = y_max + 100;
fclose(fp);
/00000000000 1%/

int readData_range2(char *filename) {
FILE xfp, *fq;
float x, y, z;
int 1i;
char ch, ch2[50];

if ((fp = fopen(filename, "r"))==NULL) {
printf ("Error2");
exit(1);

}

if ((fq = fopen("point_rangel212.txt", "w+"))==NULL) {
printf ("Error2");
exit(1);

}

for(i = 0; i < 68; i++)
fscanf (fp,"%s", ch2);

i=0;

while((ch = fgetc(fp)) != EOF) {
fscanf (fp,"%s", ch2);

fscanf (fp,"WERE%E", &x, &y, &z);

if(x !'= 999999.00 && y !'= 999999.00 && z !'= 999999.00)
fprintf(fq, "%f %f %f \n", x, y, 2);

point[i].X = x - x_min;
point[i].Y = y - y_min;
point[i].Z = z;
i++;
}
}
fclose(fp);
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fclose(fq);
return i;

/+O0DOO0O0O0OO0000 2%/

int readData_color(char *filename) {
FILE *fp;
int 1 =0, k, x =0, y =0, Z;
char ch, ch2[50];

if ((fp = fopen(filename, "r"))==NULL) {
printf ("Error");
exit(1);

}

for(k = 0; k < 11; k++)
fscanf (fp,"%s", ch2);

fscanf (fp,"%d %d", &X_co, &Y_co);
make_camera_file();

fscanf (fp,"%s", ch2);

while((ch = fgetc(fp)) != EOF && i < MAX) {
fscanf (fp,"%d", &Z);

if(Z > SHIKII){
point2[i].X = x;
point2[i].Y = y;
i++;

X++;
if (x >= X_co){
x = 0;
yt++;

}
}
fclose(fp);
return i;
/0000000000 */
int partition_a(int m, int n, struct line *line){
int i, k;
double pivot;

struct line tmp;

pivot = fabs(line[n].a);
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i=m-1;
k = n;

for(;;){
while(fabs(line[++i].a) < pivot)
while(i < --k && pivot < fabs(line[k].a))

)
if(i >= k)
break;

tmp = line[il;
linel[i] = linel[k];
line[k] = tmp;
}
tmp = line[i];
linel[i] = linel[n];
line[n] = tmp;
return i;
void quick_sort_a(int m, int n, struct line *line){

int v;

if(m >= n)
return;

v = partition_a(m, n, line);
quick_sort_a(m, v - 1, line);

quick_sort_a(v + 1, n, line);

int partition_b(int m, int n, struct line *line){
int i, k;
double pivot;
struct line tmp;

pivot = line[n].c;

i=m-1;
k = n;
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for(;;)9{

while(line[++i].c > pivot)

while(i < --k && pivot > line[k].c)
if(i >= k)
break;

tmp = line[i];
line[i] = line[k];
line[k] = tmp;
}
tmp = line[il;
linel[i] = linel[n];
line[n] = tmp;

return i;
void quick_sort_b(int m, int n, struct line *line){
int v;

if(m >= n)
return;

v = partition_b(m, n, line);
quick_sort_b(m, v - 1, line);

quick_sort_b(v + 1, n, line);

int partition_c(int m, int n, struct line *line){

int i, k;
double pivot;
struct line tmp;

pivot = line[n].c;

i=m-1;
k = n;

for(;;)1
while(line[++i].c < pivot)
while(i < --k && pivot < line[k].c)

’
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if(i >= k)
break;

tmp = linel[i];
line[i] = line[k];
line[k] = tmp;
}
tmp = line[i];
linel[i] = linel[n];
line[n] = tmp;

return i;

void quick_sort_c(int m, int n, struct line *1line){
int v;

if(m >= n)
return;

v = partition_c(m, n, line);
quick_sort_c(m, v - 1, line);

quick_sort_c(v + 1, n, line);

int min(int a, int b){
if(a >= b)
return(b);
else
return(a);

void pow_min(double a, double b, int sum){

int i, N = 0;
double aa, bb, 1, X, Y, x =0, y =0, x2 =0, xy = 0;

for(i = 0; i < sum; i++){
1 = ((point[i].Y + y_min) - a * (point[i].X + x_min) - b)
* cos(atan2(a, 1));
if (fabs(1l) < r_width){
X = point[i].X;
point[i].X = 99999.0;

Y = point[i].Y;
X =x + X;
y=y+y;
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x2 = x2 + pow(X, 2);
xy = xy + X *xY;
N++;
}
}
aa = (N *x xy - x xy) / (N * x2 - pow(x, 2));
bb = (x2 *y - x * xy) / (N * x2 - pow(x, 2)) - x_min * aa + y_min;

line[z].a = aa;
line[z].b = bb;

z++;

Y/x00000=*/
void pow_min_color(double a, double b, int sum){

int i, N = 0O;
double aa, bb, 1, X, Y, x =0, y =0, x2 =0, xy = 0;

for(i = 0; i < sum; i++){

1 = (point2[i].Y - a * point2[i].X - Db)
* cos(atan2(a, 1));

if (fabs(1l) < c_width){
X = point2[i].X;
point2[i].X = 99999.0;
Y = point2[i].Y;
X =x + X;
y=y+ Y
x2 = x2 + pow(X, 2);
xy = xy + X *xY;

N++;
}
}
aa = (N *x xy - x xy) / (N * x2 - pow(x, 2));
bb = (x2 *xy - x * xy) / (N *x x2 - pow(x, 2));

line_color([z].a
line_color[z].b

z++;

aa;
bb;

}/x00000=/
double max_p(int sum){
int 1i;

double p;

for(i = 0; i < sum; i++){
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p = sqrt(pow(point[i].X, 2) + pow(point[i].Y, 2));
if(p_max < p)
p_max = p;
}
return(p_max) ;
YxpOOOOODOOOx/

double max_p_color(int sum){
int 1i;
double p;

for(i = 0; i < sum; i++){
p = sqrt(pow(point2[i].X, 2) + pow(point2[i].Y, 2));
if (p_max2 < p)
p_max2 = p;
}

return(p_max2) ;

Y/+pOOOOOOD00x

void init_bunkatu(){
int i, k;

for(i = 0; i < MAX3; i++)
for(k = 0; k < MAX2; k++)
bunkatuli] [k].sum = 0;

void bunkatu_plus(double a, int k, double p_max){
double b, 1;
int m;

b

p_max - a;
1 = b / range;
m = floor(l);
bunkatulk] [m] .sum++;

}

void bunkatu_box(double p_max){
int i, k;

range = p_max / MAX2;
range2 = PI * 2 / MAX3;

for(i = 0; i < MAX2; i++)
for(k = 0; k < MAX3; k++){
bunkatulk][i].X = k * range2;
bunkatul[k] [i].Y = p_max - i * range;
}
yx00000000000=%*/
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void s_line(int sum){
int i, k, n;

double a, atan, theta, 1;
init_bunkatu();

for(i = 0; i < sum; i++){
if (point[i].X < 10000){
atan = atan2(point[i].Y, point[i].X);
theta = 180 * atan / PI * 10;
n = floor(theta);
if(theta - n >= 0.5)
n=mn+1;
for(k = 0; k < n + 901; k++){
a = point[i].X * cos(k * PI / 1800) + point[i].Y * sin(k * PI / 1800);
bunkatu_plus(a, k, p_max);
}
for(k = n + 2700; k < MAX3; k++){
a = point[i].X * cos(k * PI / 1800) + point[i].Y * sin(k * PI / 1800);
bunkatu_plus(a, k, p_max);
}
}
}
}/x0000000000000000x/

void s_line_color(int sum){
int i, k, n;

double a, atan, theta, 1;
init_bunkatu();

for(i = 0; i < sum; i++)
if (point2[i].X < 10000){

atan = atan2(point2[i].Y, point2[i].X);

theta = 180 * atan / PI * 10;

n = floor(theta);

if(theta - n >= 0.5)
n=mn+1;

for(k = 0; k < n + 901; k++){
a = point2[i].X * cos(k * PI / 1800) + point2[i].Y * sin(k * PI / 1800);
bunkatu_plus(a, k, p_max2);

}

for(k = n + 2700; k < MAX3; k++){
a = point2[i].X * cos(k * PI / 1800) + point2[i].Y * sin(k * PI / 1800);
bunkatu_plus(a, k, p_max2);

}

C-10



}
/0000000000 000000x%/

int max(int sum){

int i, k, bunkatu_max = 0, i_max = 0, k_max = 0, check = 0;
double a, b, 1;

for(i = 0; i < MAX3; i++)
for(k = 0 ; k < MAX2; k++)
if (bunkatu_max < bunkatu[i] [k].sum){
bunkatu_max = bunkatul[i] [k].sum;
i_max = i;
k_max = k;

}

if (bunkatu_max < 30){
printf ("return\n");
return(1l);

}

if(i_max == 0){
a = 999999.00;
b = bunkatul[0] [k_max].Y;
for(i = 0; i < sum; i++){
1 = point[i].X - bunkatul[0] [k_max].Y;
if (fabs(1l) < r_width){
point[i].X = 99999.0;

check = 1;
}
}
}
else{
a = (-1) * cos(bunkatuli_max] [k_max].X) /
sin(bunkatuli_max] [k_max].X);
b = (bunkatul[i_max][k_max].Y - range / 2) /
sin(bunkatu[i_max][k_max].X) - x_min * a + y_min;
if(fabs(a) < 1 ){
pow_min(a, b, sum);
check = 2;
}
elsed{

for(i = 0; i < sum; i++){
1 = ((point[i].Y + y_min) - a * (point[i].X + x_min) - b)
* cos(atan2(a, 1));
if (fabs(1l) < r_width){
point[i].X = 99999.0;
check = 1;
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}
}
}
if (check == 1){
line[z] .a = a;
linel[z].b = b;
Z++;

return(0) ;

}
if (check == 2)
return(0) ;

bunkatuli_max] [k_max].sum = 0;
return(2);

}/+000000=%/

int max_color(int sum){

int i, k, bunkatu_max = 0, i_max = 0, k_max = 0, check = 0;

double a, b, 1;

for(i = 0; i < MAX3; i++)
for(k = 0 ; k < MAX2; k++)
if (bunkatu_max < bunkatu[i] [k].sum){
bunkatu_max = bunkatul[i] [k].sum;
i_max = i;
k_max = k;

}

if (bunkatu_max < 30){
printf ("return\n");
return(l);

}

if (i_max == 0){
a = 999999.00;
b = bunkatu[0] [k_max].Y;
for(i = 0; i < sum; i++){
1 = point2[i].X - bunkatu[0] [k_max].Y;
if (fabs(1l) < c_width){
point2[i].X = 99999.0;
check = 1;
}
}
}
else{
a = (-1) * cos(bunkatuli_max][k_max].X) /
sin(bunkatul[i_max] [k_max] .X);
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b = (bunkatul[i_max][k_max].Y - range / 2) /
sin(bunkatuli_max] [k_max].X);

if (fabs(a) < 1 ){
pow_min_color(a, b, sum);

check = 2;
}
elsef{
for(i = 0; i < sum; i++){
1 = (point2[i].Y - a * point2[i].X - Db)
* cos(atan2(a, 1));
if (fabs(1l) < c_width){
point2[i].X = 99999.0;
check = 1;
}
}
}
}

if (check == 1){
line_color[z].a
line_color[z].b = b;
printf ("[%d] %f %f\n", z, line_color[z].a, line_color[z].b);
Z++;

return(0) ;

}

a;

if (check == 2)
return(0) ;

bunkatul[i_max] [k_max].sum = 0;
return(2);

int line_point(int small, int big, int range_small, int sum, int numil){
int i, k, 1, 1_min = 0;
double x, y, Xy, Xy_min;

for(i = 0; i < small; i++)
for(k = range_small; k < range_small + big; k++){
if (line[i].a < 9999.00 && line[k].a < 9999.00){
xy_min = 999999.00;
X (l1ine[i]l.b - line[k].b) / (linel[k].a - line[i].a);
y = line[il.a * x + line[i].Db;
for(l = 0; 1 < sum; 1++){
xy = pow(((point[1].X + x_min) - x), 2) + pow(((point[1l].Y + y_min) - y), 2);
if (xy < xy_min){
Xy_min = Xxy;
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1_min = 1;
}
point_range[numl].X = point[l_min].X + x_min;
point_range[numl].Y = point[l_min].Y + y_min;
point_range[numl].Z = point[1_min].Z;
}
}

numl++;

}

return(numl) ;
000000/

int line_point_color(int small, int big, int color_small, int num?2){

int i, k, 1, 1_min = 0;

double x, y, Xy, Xy_min;

for(i = 0; i < small; i++)

for(k = color_small; k < color_small + big; k++){
if(line_color[i].a < 9999.00 && line_color[k].a > 99999.00){

point_color[num2].X = line_color[i].b;
point_color[num2] .Y = line_color[k].b;
num2++;

3

if(line_color[i].a < 9999.00 && line_color[k].a < 9999.00){
x = (line_color([i]l.b - line_color[k].b) / (line_color[k].a - line_color[i].a);
y = line_color[i].a * x + line_color[i].b;

point_color[num2] .X = x;
point_color[num2].Y = y;
num2++;
}
}
return(num?2) ;

3

int main(void) {
int i, k, 1, m = 0, n, o, range = 0,
color = 0, range_sum, color_sum, range_num, color_num,
range_min, color_min, big_min, small_min, pointrange, pointcolor;
double p;
char range_file[10][30], color_file[10][30];
FILE xfp, *fq;

printf ("?plane?\n");

scanf ("%d", &1);

for(i =0; i < 1; i++){
printf ("input rangedatal%d] (.asc):\n", i + 1);
scanf ("%s", range_file[i]);
printf ("input colordatal%d] (.pgm):\n", i + 1);
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scanf ("%s", color_file[i]);

}

for(n = 0; n < 1; n++){
x_min = 99999.00;
y_min = 99999.00;

}

HO00000000%*/

readData_range (range_file[n]);

range_sum = readData_range2(range_file[n]);
p = max_p(range_sum) ;

bunkatu_box (p) ;

z = 0;

for(;;){
s_line(range_sum);
o = max(range_sum);
if(o == 2)
for(;;)1
o = max(range_sum) ;
if(o == 1)
break;
}
if(o == 1)
break;

}

quick_sort_a(0, z - 1, line);

/000000000000 0000000004 =/
i=0;

while(fabs(linel[i].a) < 1)
i++;

quick_sort_b(0, i - 1, line);/*0 00000 */

for(k = i; k < z; k++){
if (line[k].a !'= 999999.00)
linel[k].c = (((y_max - y_min) / 2) - linel[k].b) / line[k].a;
else
line[k].c = line[k].b;
}

quick_sort_c(i, z - 1, line); /000000 */

range_min = i;/x0000000000000000O0Ox*/
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range_num = z; /00000000000=%*/
z = 0;

/00000000 %/

color_sum = readData_color(color_file[n]);
p = max_p_color(color_sum);
bunkatu_box (p) ;

for(;;){
s_line_color(color_sum);
o = max_color(color_sum);
if (o == 2)
for(;;){
o = max_color(color_sum);
if(o == 1)
break;
}
if(o == 1)
break;

}

quick_sort_a(0, z - 1, line_color);

/0000000000000 0000D0000 %/

i=0;
while(fabs(line_color[i].a) < 1)
i++;
for(k = 0; k < i; k++)
line_color[k].c = X_co * line_colorlk].a + line_color[k].b;

quick_sort_c(0, i - 1, line_color);

for(k = i; k < z; k++){
if (line_color[k].a !'= 999999.00)
line_color[k].c = (Y_co - line_color[k].b) / line_color[k].a;
else
line_color[k].c = line_color[k].b;

}
quick_sort_c(i, z - 1, line_color);

i; /0000000000000 0O0O0ODO0Ox*/

color_min

z; /000000000000=%/

color_num

big_min = min(range_num - range_min, color_num - range_min);
/00000000000x*/
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small_min = min(range_min, color_min); /00000000000 */

readData_range2(range_file[n]);

pointrange = line_point(small_min, big_min, range_min, range_sum, range);
00000000000/

pointcolor = line_point_color(small_min, big_min, color_min, color);

/000000000000 x*/

range = pointrange;
color = pointcolor;

if ((fp = fopen("point.txt", "w")) == NULL){
printf ("error\n");
exit(1);

}

/000000%/

fprintf (fp, "%s %d\n", "point" , range);

for(i = 0; i < range; i++)
fprintf(fp, "%.2f %.2f %.2f %f %f\n",
point_range[i] .X, point_range[i].Y, point_range[i].Z,
point_color[i].X, point_color[i].Y);

printf ("point.txt & camera.txt out\n");

fclose(fp);

point.c

#include "math.h"
#include "stdio.h"

#define MAX 50000

/0 0000/
struct point{

3

double x;
double y;
double z;
point [MAX];

int main(argc, argv)
int argc;
char *argv([];

{

FILE xfp, *xfq;
float x, y, z;
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int 1 =0, j;
char ch, ch2[50];
double x_min, y_min, z_min, z_max, X_max, y_max;

/000000000%*/

if( arge '= 3 ){
fprintf (stderr,"usage: point asc_file outfile\n");
exit(1);

}

if ((fp = fopen(argv[1], "r"))==NULL) {
printf ("Error2");
exit(1);

}

if ((fq = fopen(argv([2], "w+"))==NULL) {
printf ("Error2");
exit(1);

}

for(i = 0; i < 68; i++)
fscanf (fp,"%s", ch2);

x_min = 999999.00;
y_min = 999999.00;
z_min = 999999.00;
z_max = -999999.00;
x_max = -999999.00;
y_max = -999999.00;

while((ch = fgetc(fp)) != EOF) {
fscanf (fp,"%s", ch2);

fscanf (fp,"WERE%E", &x, &y, &z);

if(x != 999999.00 && y !'= 999999.00 && z !'= 999999.00){

if(x_min > x)x_min = x;
if(y_min > y)y_min = y;
if (x_max < x)x_max = X;
if(y_max < y)y_max = y;
if(z_min > z)z_min = z;
if(z_max < z)z_max = Z;
point[i].x = x;
point[i]l.y = y;
point[i]l.z = z;

it++;

’
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X_min X_max - X_min;

y_min = y_max - y_min;
Z_min = z_max - z_min;

if (x_min > y_min){
if (x_min > z_min){
y_min = x_min;

Z_min = x_min;

}
elsef{
y_min = z_min;
Xx_min = z_min;
}
}
else{
if (y_min > z_min){
x_min = y_min;
z_min = y_min;
}
elsef{
y_min = z_min;
X_min = z_min;
}
}

for(j = 0; j < i; j+H){
x = (x_max - point[j].x) / x_min;
y = (y_max - point[jl.y) / y_min;
z = (z_max - point[jl.z) / z_min;
fprintf(fq, "%f %f %f %d\n", x, y, z, a);
}
fclose(fp);
fclose(fp);

return 0;
Y+ascOOOOOOOOOOODODOOODOO=*/

readbmp.c

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

/*BITMAP FILE HEADER O O [ */
typedef struct tagBITMAPFILEHEADER {

unsigned short bfType;
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unsigned long bfSize;
unsigned short bfReservedl;
unsigned short bfReserved?2;
unsigned long bfOffBits;

}BITMAPFILEHEADER;

/*BITMAP INFO HEADER O O [ */
typedef struct tagBITMAPINFOHEADER{

unsigned long biSize;

signed long biWidth;

signed long biHeight;
unsigned short biPlanes;
unsigned short biBitCount;
unsigned long biCompression;
unsigned long biSizelmage;
signed long biXPelsPerMeter;
signed long biYPelsPerMeter;
unsigned long biClrUsed;
unsigned long biClrImportant;

} BITMAPINFOHEADER;

int main(argc, argv)

int argc;
char *argv[];
{

BITMAPFILEHEADER fileheader;
BITMAPINFOHEADER infoheader;

FILE xfp_ref;

FILE *fp_point;

FILE *fp_color;

FILE *fp_final;

int i=0;

int k=0;

int point;

int x_color_int, y_color_int;
float x_color, y_color;

float x_range, y_range, z_range;
char ch;

unsigned char *ref_r;
unsigned char *ref_g;
unsigned char *ref_b;

unsigned char *ref;

ref_r=(unsigned char*)malloc(sizeof (unsigned char)*1024%672) ;
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ref_g=(unsigned char*)malloc(sizeof (unsigned char)*1024*672) ;
ref_b=(unsigned char*)malloc(sizeof (unsigned char)*1024*672);
ref=(unsigned char*)malloc(sizeof (unsigned char)*1024%672%3);

if( arge !'= 5 ){
fprintf(stderr,"usage: readbmp bmp_file color_point_file seikika_file outfile\n");
exit(1);

X

/0000000000%*/

if ((fp_ref=fopen(argv[1],"rb"))==NULL) {
printf("File open error 1 \n");
return 0;

}

/000000000000 x/
if (fread (&fileheader.bfType,2,1,fp_ref)!=1)
printf ("read errorl");

if (fread(&fileheader.bfSize,4,1,fp_ref)!=1)
printf ("read error2");

if (fread(&fileheader.bfReservedl,2,1,fp_ref)!=1)
printf ("read error3");

if (fread(&fileheader.bfReserved2,2,1,fp_ref)!=1)
printf ("read error4");

if (fread(&fileheader.bf0ffBits,4,1,fp_ref)!=1)
printf ("read error5");

if (fread (&infoheader.biSize,4,1,fp_ref)!=1)
printf("read error6");

if (fread(&infoheader.biWidth,4,1,fp_ref)!=1)
printf ("read error7");

if (fread (&infoheader.biHeight,4,1,fp_ref)!=1)
printf ("read error8");

if (fread(&infoheader.biPlanes,2,1,fp_ref)!=1)
printf("read error9");

if (fread (&infoheader.biBitCount,2,1,fp_ref) !=1)
printf ("read error10");

if (fread (&infoheader.biCompression,4,1,fp_ref) !=1)
printf ("read erroril");
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if (fread (&infoheader.biSizeImage,4,1,fp_ref)!=1)
printf ("read erroril2");

if (fread (&infoheader.biXPelsPerMeter,4,1,fp_ref)!=1)
printf("read errori3");

if (fread(&infoheader.biYPelsPerMeter,4,1,fp_ref)!=1)
printf ("read errorid");

if (fread(&infoheader.biClrUsed,4,1,fp_ref)!=1)
printf("read erroris");

if (fread(&infoheader.biClrImportant,4,1,fp_ref)!=1)
printf ("read errorl6");

/0000000000 %/
while((fread (&ref[i],sizeof (unsigned char),1,fp_ref))==1)
i++;

i=0;

for(k = 0;k < 1024 * 672;k++){
ref_blkl=ref[i];
i++;
ref_glkl=ref[i];
i++;
ref_r[k]=ref[i];
i++;
}
if ((fp_color = fopen(argv[2], "r")) == NULL){
printf ("FILE ERROR\n");
return 0O;

/0000000000000 000o00o0ooooogx/

if ((fp_point = fopen(argv[3], "r")) == NULL){
printf("FILE ERROR\n");
return 0;

/000000000000 0000 =/

if ((fp_final = fopen(argv[4], "w+")) == NULL){
printf("FILE ERROR\n");
return 0;

}

/000000000000 %*/
while((ch = fgetc(fp_color)) != EOF) {
fscanf (fp_color, "/f %f", &x_color, &y_color);
fscanf (fp_point, "%f %f %f", &x_range, &y_range, &z_range);
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floor (x_color);
floor(y_color);

x_color_int
y_color_int

point = (672 - y_color_int) * 1024 + x_color_int;
/00000000000 =/

if (x_color_int >= 0 && y_color_int >= 0 &%
x_color_int < 1024 && y_color_int < 672 ){
fprintf(fp_final,"%f ", x_range);
fprintf(fp_final,")f ", y_range);
fprintf(fp_final,")f ", z_range);
fprintf(fp_final,"%u ", ref_r([point]);
fprintf(fp_final,"%u ", ref_glpoint]);
fprintf(fp_final,"%u \n", ref_b[point]);

}

}

fclose(fp_ref);

fclose(fp_point);
fclose(fp_color);
fclose(fp_final);

return 0;

txt2ply.c

#include "math.h"
#include "stdio.h"

#tdefine MAX 50000

/0 0000=/
struct point{
double x;
double y;
double z;

int a;
} point [MAX];

struct point2{
int a;
int b;
int c;

} triangle[MAX];

int main(argc, argv)
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int argc;
char *argv[];
{
FILE xfp, *fq;
float x, y, z;
int i =0, j, k, num, 1 = 0, count = 0,
dummy [1000] , dummy2[1000], dummy_num, dummy_num2, a, red ,blue, green;
char ch;

if( arge '= 3 ){
fprintf(stderr,"usage: point txt_file ply_file\n");
exit(1);

}

if ((fp = fopen(argv[1], "r"))==NULL) {
printf ("Error2");
exit(1);

}

if ((fq = fopen(argv[2], "w+"))==NULL) {
printf ("Error2");
exit(1);

}

while((ch = fgetc(fp)) != EOF) {
fscanf (fp, "hEhEhE%d%d%A", &x, &y, &z, &red, &blue, &green);
point[i].x = x;
point[i]l.y = y;
point[i]l.z = z;
it+;

}

for(j = 0; j < i; j++){
x = point[j].x;

y = point[j]l.y;
z = point[j].z;
}
num = j;
i=0;

while(l < num - 10){
for(a = 0; a < 1000; a++){

dummy [a] = 0;
dummy2[a] = 0;
}
j=0;
do{
dummy [j] = 1;
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1++;

jt+t;
}while(point[1l + 1].x > point[1l].x);

dummy [j] = 1;

1++;
dummy_num = j + 1;

J =05

do{
dummy2[j] = 1;
1++;
jt+t;

}while(point[1 + 1].x > point[1].x);

dummy2[j] = 1;

dummy_num2 = j + 1;

i=0;
k = 0;

/<1000000000000000000=%*/
if (Qummy_num < dummy_num2){
while(i < dummy_num && k < dummy_num2 - 1){
triangle[count].a = dummy[i];
triangle[count].b = dummy2[k];
triangle[count].c = dummy2[k + 1];
count++;
k++;
while(point [dummy[i]].x > point[dummy2[k]].x){
triangle[count].a = dummy[i];
triangle[count].b = dummy2[k];
triangle[count].c = dummy2[k + 1];
k++;

’

count++;
}
if (i < dummy_num - 1){
triangle[count].a = dummy[i];
triangle[count].b = dummy[i + 1];
triangle[count].c = dummy2[k];
count++;
}
i++;
}
while(k < dummy_num2 - 1){
triangle[count].a = dummy[i - 1];
triangle[count].b = dummy2[k];
triangle[count].c = dummy2[k + 1];
count++;
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k++;
}
}

/2000000000000000000%/
elseq{
while(k < dummy_num2 - 1){
triangle[count].a = dummy[i];

triangle[count].b = dummy[i + 1];
triangle[count].c = dummy2[k];
count++;

i++;

while(point [dummy[i]].x > point[dummy2[k]].x){
triangle[count].a = dummy[i];
triangle[count].b = dummy2[k];
triangle[count].c = dummy2[k + 1];
k++;

’

count++;
}
triangle[count].a = dummy2[k];
triangle[count].b = dummy2[k + 1];
triangle[count] .c = dummy[i];
k++;

)

count++;

}

while(i < dummy_num - 1){
triangle[count] .a = dummy[i];
triangle[count].b = dummy[i + 1];
triangle[count].c = dummy2[k];
count++;
i++;

3

}

1=1+1- dummy_num?2;

}

a = count;

/0000000%*/

for(count = 0; count < a - 10000; count++)
fprintf(fq, "%d %d %d \n",
triangle[count].a, triangle[count].b,
triangle[count].c);

fclose(fp);

fclose(fq);

return 0;
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texture.c

#include <GL/glut.h>
#include <stdlib.h>

#include "stdio.h"
#tdefine MAX 40000

struct point{
double x;
double y;
double z;
double red;
double green;
double blue;

} point[MAX];

struct point2{
int a;
int b;
int c;

} triangles[MAX];

void readData(char *filename)
{
FILE xfp, *fq;
int i = 0, j, red, green, blue, a, b, c;
char ch;
float x = 0, y =0, z = 0;

if ((fp = fopen(filename, "r"))==NULL){
printf ("Error");
exit(1);

}

if ((fq = fopen("tmp1214.txt", "r"))==NULL){
printf ("Error");
exit(1);

}

while((ch = fgetc(fp)) !'= EOF){
fscanf (fp,"hE%E%t%dkd%d", &x, &y, &z, &red, &green, &blue);
point[i].x = x;
point[il.y = y;
point[i]l.z = z;
point[i].red = red / 255.0;
point[i] .green = green / 255.0;
point[i] .blue = blue / 255.0;
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while((ch = fgetc(fq)) !'= EOF){
fscanf (fq,"%d%d%d", &a, &b, &c);
printf ("%d %d %d\n", a, b, c);

triangles[i].a = a;
triangles[i].b = b;
triangles[i].c = c;
i++;
}
triangles[i].a = 99999;
triangles[i].b = 99999;
triangles[i].c = 99999;
fclose(fp);
fclose(fq);
}
void init(void)
{
glClearColor (1.0, 1.0, 1.0, 0.0);
glShadeModel (GL_SMOOTH);
}

void triangle(void)
{
int i = 0, j = 0;
float 1, m, n;

glPushMatrix () ;
glTranslatef (1.0, 0.0, 0.0);
glRotatef ((GLfloat)0, 0.0, 1.0, 0.0);

while(triangles[j].a !'= 99999 &&
triangles[j]l.b !'= 99999 &&
triangles[j]l.c !'= 99999){
/x00000000000000x*/
glBegin (GL_TRIANGLES);
glColor3f (point[triangles[j].al.red,
point[triangles[j].al.green,
point[triangles[j].al.blue);
glVertex3f (1 - point[triangles[j].al.x,
0.5 - point[triangles[j].al.y,
point[triangles[j].al.z);
glColor3f (point[triangles[j].b].red,
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point[triangles[j].b].green,
point[triangles[j].b].blue);
glVertex3f (1 - point[triangles[j].b].x,
0.5 - point[triangles[j].b].y,
point[triangles[j].b].z);
glColor3f (point[triangles[j].c].red,
point[triangles[j]l.c].green,
point[triangles[j].c].blue);
glVertex3f (1 - point[triangles[j].cl.x,
0.5 - point[triangles[j].c].y,
point[triangles[j]l.c].z);
jt+t;
glEnd();
}
glPopMatrix () ;
glutSwapBuffers() ;
}

void display(void){
glClear (GL_COLOR_BUFFER_BIT);
triangle ();
glFlush (Q);

}

void reshape (int w, int h){
glViewport (0, O, (GLsizei) w, (GLsizei) h);
glMatrixMode (GL_PROJECTION) ;
glLoadIdentity Q) ;
if (w <= h)
gluOrtho2D (0.0, 1.0, 0.0, 1.0 * (GLfloat) h/(GLfloat) w);

else
gluOrtho2D (0.0, 1.0 * (GLfloat) w/(GLfloat) h, 0.0, 1.0);
glMatrixMode (GL_MODELVIEW) ;
}

void keyboard(unsigned char key, int x, int y){
switch (key) {
case 27:
exit (0);
break;
}
}

int main(int argc, char** argv){
char filename[30];

int s;

if( arge !'= 2 ){
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fprintf(stderr,"usage: ./smooth inputfile rangefile\n");
exit(1);
}
strcpy (filename, argv[1]);
readData(filename) ;
glutInit(&argc, argv);
glutInitDisplayMode (GLUT_SINGLE | GLUT_RGB);
glutInitWindowSize (700, 700);
glutInitWindowPosition (100, 100);
glutCreateWindow (argv[0]);
init (;
glutDisplayFunc(display);
glutReshapeFunc (reshape) ;
glutKeyboardFunc (keyboard);
glutMainLoop() ;
return 0;
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